RV Series Automated Dispensing Systems

Quick Start Guide

Guia Répida ® Guide Rapide de Montage ® Guida rapida di avvio ® Guia Répido ® Schnellstartanleitung .
Priivodce rychlym nastavenim ® Szybki start ® KpaTkoe pykoBOACTBO nonb3oBatens ® Gyors Belizemelési Utmutatd

WEBEIEE ¢ VAV I R — NAA R o & AZ} QhjA

Unpack and Check Install DispenseMotion™ Controller

Desembale y Compruebe Instale el Controlador DispenseMotion
Déballer et Vérifier Installer le Controleur DispenseMotion
Disimballo e controllo Installare il Controller DispenseMotion
Desembale e verifique Instale o Dispensador de Movimento Controlador
Auspacken und Uberpriifen Installation DispenseMotion Controller
Rozbalte a zkontrolujte Nainstalujte kontrolér DispenseMotion
Rozpakowac i sprawdzi¢ Instalacja DispenseMotion Controller
Pacnakyiite 1 npoeepbTe YcraHosuTe koHTponnep DispenseMotion
Csomagolja ki és DispenseMotion vezérl6 telepités b
ellendrizze le L #DispenseMot i onZR {45 Il 88 /
HATRE DispenseMotiond> hA—S DK E
BilREANBIOF vy DispenseMotion %-§ ZAEE# 4%
% 3t &kl
a M3 x 6 \
b M4 x 6 a
Install Camera
Instale Camara
Installer la Caméra
Installa videocamera
Instale a Camara a-a
Kamera installieren
Nainstalujte kameru
Zainstalowac¢ kamere
YcTaHoBUTe kaMepy
Szerelje be a kamerat
RERIGS
HAZOED fFHiF
Fhule} 4% \
Optional
a M4 x 15 Opcional
En option
Opzionale
Opcional
Optional
Volitelné
Opcjonalnie
[ONONHNTENbHAS oMLt
Opcionalis
LA
A7vay
A
Nordson
EFD




Connect to Camera

Conéctelo a la Camara
Connecter & la Caméra
Collega a videocamera
Conecte-0 a camara
Kamera anschlieBen
Pripojte ke kamere
Podtaczy¢ kamere
MpucoeanHnTe K kamepe
Csatlakoztassa a kamerat
ERERIRRL
NASDFEEHT

Fhelet A4

Install Dispensing Device

Instale el Dispositivo de Dispensacion
Installer le Systéme de Dosage a
Installa il dispositivo di dosatura

Instale o Dispositivo de Dispensacao /
Dosiersystem installieren
Nainstalujte davkovaci systém

Zainstalowac system dozujacy b
YCTaHOBUTE CUCTEMY A03UPOBaHMsI

Szerelje be az adagoldberendezést \
REARIGE

BIEEOBMO S

vz Hpol s A

a @B oioxsé

b M4 x 10




Connect Cables

Conecte Cablesde aire
Brancher les Cables
Collega cavi

Conecte os cabos
Kabel anschlieBen
Pfipojte kabely
Podfaczyc¢ kabel

MpucoeanHuTe kabenu N
Csatlakoztassa a kabeleket USB-CCD
R R
T=7ILOBD S
REXE
O—
RS232-1 ROBOT
SHORTED
Cortocircuito Wytgczony
Connecteur de Sécurité 3aMKHYTbII KOHTaKT
Accorciato Lekapcsolt
Abgeschaltet aiEk
Propojeny AN/HBHT ST Gai&EH)

2E FYad4d

24VDC




Power ON

Encendido
Alimentation ON
Acceso

Ligacdo
Einschalten
Zapnuti pristroje
Wiaczyé
MuTaHue BKIKOYEHO
Bekapcsolas
BIRFR
BIRA>

A A7)

Click Home

Haga Click en Incio
Cliquer sur Home

Clicca Home

Clique em Pégina Inicial
Klick Home

Kliknéte Dom{ (Home)
Klikniecie Home
Haxxmute HOME ([omoit)
Klikkelj a HOME-ra
REER
Home%zoYUvyo

Home W& 29

Open DispenseMotion

Abrir DispenseMotion

Ouvrir DispenseMotion

Aprire DispenseMotion

Abrir o Dispensador de Movimento
DispenseMotion 6ffnen

Spustte program DispenseMotion
Otwarcie DispenseMotion
3anyctute nporpammy DispenseMotion
DispenseMotion™ megnyitas

B zhDispenseMot i on#X {4
DispenseMotionY 7 kD15 Eif
DispenseMotion Z 27131 A3

Nordson

EFD

For Nordson EFD sales and service in over
40 countries, contact Nordson EFD or go to
www.nordsonefd.com

Global

East Providence, RI USA
800-556-3484; +1-401-431-7000
info@nordsonefd.com

Europe

Dunstable, Bedfordshire, UK

0800 585733; +44 (0) 1582 666334
europe@nordsonefd.com

Asia

China: +86 (21) 3866 9006; china@nordsonefd.com
India: +91 80 4021 3600; india@nordsonefd.com
Japan:; +81 03-5762-2760; japan@nordsonefd.com
Korea: +82-31-736-8321; korea@nordsonefd.com
SEAsia: +65 6796 9522; sin-mal@nordsonefd.com

©2018 Nordson Corporation 7363579  v020918



